
Total slides examined in 
previous quarter (A)= 500

Quantity 
needed per 

smear Stock on hand
Calculated 

quantity

(B) (E) (F)= C+D-E
Sputum containers (pieces) 1 500 500 58 942 1 Bag (1000 count)
Slides (pieces) 1 500 500 50 950 14 Box (72 slides)
Carbolfuchsin (mL) 3 1500 1500 200 2800 3 Bottle (1 liter)
Destaining reagent (mL) 5 2500 2500 150 4850 5 Bottle (1 liter)
Methylene blue (mL) 3 1500 1500 3500 -500 0 Bottle (1 liter)
Immersion oil (mL) 0.05 25 25 10 40 2 Bottle (50 mL)
Burning spirit (mL) 1 500 500 100 900 1 Bottle (1 liter)

Order unitItems

Calculated 
requirements for 

one quarter     
(C)= AxB 

Reserve quantity 
for one quarter  

(D)= C

Quantities 
requested/ issues 
[roundup to next 
hundred number]


